

Section 3: The product and quotient rules

Exercise level 3 solutions

1. (i) $f(x) = (x-a)^2 g(x)$

$$u = (x-a)^2 \Rightarrow \frac{du}{dx} = 2(x-a)$$

$$v = g(x) \Rightarrow \frac{dv}{dx} = g'(x)$$

Using the product rule, $f'(x) = 2(x-a)g(x) + (x-a)^2 g'(x)$

$$f'(a) = 0 + 0 = 0$$

(ii) $f'(x) = 2(x-a)g(x) + (x-a)^2 g'(x)$

$$\begin{aligned} f''(x) &= 2g(x) + 2(x-a)g'(x) + 2(x-a)g'(x) + (x-a)^2 g''(x) \\ &= 2g(x) + 4(x-a)g'(x) + (x-a)^2 g''(x) \end{aligned}$$

When $x = a$, $f''(x) = 2g(a) + 0 + 0 = 2g(a)$

Since $g(a) > 0$, $f''(a) > 0$

and so the stationary point is a minimum point.

2. (i) $y = \frac{x+1}{x-1}$

$$u = x+1 \Rightarrow \frac{du}{dx} = 1$$

$$v = x-1 \Rightarrow \frac{dv}{dx} = 1$$

$$\frac{dy}{dx} = \frac{(x-1) - (x+1)}{(x-1)^2} = -\frac{2}{(x-1)^2}$$

(ii) $y = \frac{x+1}{x-1} = \frac{x-1+2}{x-1}$

$$= 1 + \frac{2}{x-1}$$

$$= 1 + 2(x-1)^{-1}$$

$$\frac{dy}{dx} = 0 + 2 \times -(x-1)^{-2} = -2(x-1)^{-2}$$

$$= -\frac{2}{(x-1)^2}$$

Edexcel A level Maths Differentiation 3 Exercise solns

$$3. \text{ (i) } y = \frac{1}{g(x)} = [g(x)]^{-1}$$

$$\begin{aligned} \frac{dy}{dx} &= -[g(x)]^{-2} \times g'(x) \\ &= -\frac{g'(x)}{[g(x)]^2} \end{aligned}$$

$$\text{(ii) } y = \frac{f(x)}{g(x)} = f(x) \times \frac{1}{g(x)}$$

$$\begin{aligned} \frac{dy}{dx} &= f'(x) \times \frac{1}{g(x)} + f(x) \times \frac{d}{dx} \left(\frac{1}{g(x)} \right) \\ &= \frac{f'(x)}{g(x)} + f(x) \times -\frac{g'(x)}{[g(x)]^2} \\ &= \frac{f'(x)}{g(x)} - \frac{f(x)g'(x)}{[g(x)]^2} \\ &= \frac{f'(x)g(x)}{[g(x)]^2} - \frac{f(x)g'(x)}{[g(x)]^2} \\ &= \frac{f'(x)g(x) - f(x)g'(x)}{[g(x)]^2} \end{aligned}$$

which is the quotient rule.